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+7. 500 9. 000 N0-8 6. 000
12. 500 9. 000 112. 20. 000 6. 000 120.0
NO. 1 9. 000 NO. 9 6. 000
20. 000 9. 000 180. 20. 000 6. 000 120.0
NO. 2 9. 000 NO. 10 6. 000
17. 500 9. 000 157. 7. 500 6. 000 45.0
+17. 500 9. 000 +7. 500 6. 000
2. 500 8. 893 22. 12. 500 6. 000 75.0
NO. 3 8. 786 No. 11 6. 000
20. 000 7.929 158. 20. 000 6. 000 120.0
NO. 4 7.072 NO. 12 6. 000
12. 500 6. 536 81. 5. 000 6. 000 30.0
+12. 500 6. 000 +5. 000 6. 000
7. 500 6. 000 45. 14. 300 6. 000 85. 8
NO. 5 6. 000 +19. 300 6. 000
5. 000 6. 000 30.
+5. 000 6. 000 Br
15. 000 6. 000 90.
NO. 6 6. 000
2. 700 6. 000 16.
+2. 700 6. 000
0. 000 3. 000 0.
Gl 0. 000
NOL 7 28. 800 0. 000 0.
+11. 500 0.000
0. 000 3. 000 0.
[RIFfr 6. 000
8. 500 6. 000 51.
NO. 8 6. 000 /I i
251. 800 1,540. 5
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6. 900 6. 000 41.
NO. 21 6. 000 -
20. 000 6. 000 120.
NO. 22 6. 000 -
20. 000 6. 000 120.
NO. 23 6. 000 -
20. 000 6. 000 120.
NO. 24 6. 000 -
6. 000 6. 000 36.
+6. 000 6. 000 -
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+11. 000 9. 000 -
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9.324 9. 000 83.
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+11. 000 9. 000
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NO. 2 3. 360 NO. 10 4. 260

20. 000 3. 360 67. 7. 500 4. 260 32.0
NO. 3 3. 360 +7. 500 4. 260

15. 000 3. 480 52. 12. 500 4. 260 53.3
+15. 000 3. 600 No. 11 4. 260

5. 000 3. 609 18. 20. 000 4. 260 85. 2
NO. 4 3.617 NO. 12 4. 260

12. 500 3.939 49. 5. 000 4. 260 21.3
+12. 500 4. 260 +5. 000 4. 260

7. 500 4. 260 32. 15. 000 4. 260 63.9
NO. 5 4. 260 +19. 300 4. 260

5. 000 4. 260 21.
+5. 000 4. 260 Br

15. 000 4. 260 63.
NO. 6 4. 260

2.700 4. 260 11.
+2. 700 4. 260

0. 000 2.130 0.
GBR 0. 000
\O. 7 28. 800 0. 000 0.
+11. 500 0.000

0. 000 2.130 0.
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8. 500 4, 260 36.
NO. 8 4. 260 /I i
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0. 000 2.125
NO. 20413, ] 3. 950 2.125 8.4
100 2.125 +13. 070 2.125
6. 900 2.125 14.7
NO. 21 2.125
1. 800 2.125 3.8
+1. 800 2.125 -
0. 000 3.193 0.0
+1. 800 4. 260
18. 200 4. 260 77.5 Al= 69. 3
NO. 22 4. 260 -
20. 000 4. 260 85. 2 A2= 22.3
NO. 23 4. 260 -
20. 000 4. 260 85. 2 A3= 1. 89
NO. 24 4. 260
20. 000 4. 260 85. 2 Ad= 3.5b
NO. 25 4. 260 -
20. 000 4. 260 85. 2 Ab= 108. 52
NO. 26 4. 260 -
9. 324 4. 260 39.7 A6= 97. 96
SP. 1 4. 260 -
10. 676 4. 260 45.5 al=(¥ER) -26.9
NO. 27 4. 260
9.120 4. 260 38.9 a2= (¥ep5) -15.9
+9. 100 4. 260
0. 000 3.193 0.0 a3= (¥Ep%) -15.9
+9. 100 2.125
3. 950 1. 063 4.2
N & 3
139. 970 565. 1 392. 470 1,451.9
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NO. 0 (m) (m) (m) (m?) (m) (m) (m) (m?)
+7. 500 3. 360 NO. 8 4. 310
12. 500 : 3. 360 42.0 20. 000 : 4. 335 86. 7
NO. 1 3. 360 NO. 9 4. 360
20. 000 3. 360 67.2 20. 000 4. 360 87.2
NO. 2 3. 360 NO. 10 4. 360
20. 000 3. 360 67.2 7. 500 4. 360 32.7
NO. 3 3. 360 +7. 500 4. 360
15. 000 3. 480 52.2 12. 500 4. 360 54.5
+15. 000 3. 600 No. 11 4. 360
5. 000 3. 609 18.0 20. 000 4. 360 87.2
NO. 4 3.617 NO. 12 4. 360
12. 500 3. 939 49. 2 5. 000 4. 360 21.8
+12. 500 4. 260 +5. 000 4. 360
7. 500 4. 260 32.0 15. 000 4. 360 65. 4
NO. 5 4. 260 +19. 300 4. 360
5. 000 4. 260 21.3
+5. 000 4. 260
15. 000 4. 260 63.9
NO. 6 4. 260
2.700 4. 260 11.5
+2. 700 4. 260
0. 000 2.130 0.0
R 0. 000
oL 7 28. 800 0. 000 0.0
+11. 500 0.000
0. 000 2. 155 0.0
[P 4. 310
8. 500 4,310 36. 6
NO. 8 4. 310 /N B
252. 500 896. 6
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0. 000 2.125
\O. 20413, ] 3.950 2.125 8.4
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E ¢ 6x2895 0. 64 2 1.3 SHRM-6 A ¢ 6x2895 0.64 2 1.3 SWRM-6
JAv—O—J@xik | PL6x60xI18 0.33 20 6.6 SS_400 DA ¥—O—JfxiR_| PLOX60xI18 0.33 35 11.6 SS_400
% ik & B ¢ 25x500 3.50 10 35.0 SS 490 * ik & 2 $ 25x500 3.50 10 35.0 SS_490
J4¥—0-7 3x7 G/0p18 1. 1Kg/m 41.9m 46. 1 JI83525(Z #EHL 74v—0-7 3x7 G/0¢18 1. 1Kg/m 72.0m 79.2 JI83525(Z #EHL
EEIAIL ¢ 3. 2x50x300 0.06 55 3.3 SWNG-7 FEEaAIL ¢3. 2x50x300 0.06 100 6.0 SHMG-7
= ] @ 3. 2x40x40 (2. 910mx8. 94m) 3. 70Kg/m 26. Om 96.2 SWMG-7 KEF v 7 LI ES ¢ 3. 2x40x40 (2. 910mx14. 96m) 3. 70Ke/m 43.5m ? 161.0 SWhG-7 KEFyZ LT
AR M12x60 0.10 64 6.4 SUS304 N—FOovsFy b, 2-FESH ARARIL b+ M12x60 0.10 94 9.4 SUS304 v b 2-FESA
AEBRIL M12x260 0.28 20 5.6 SUS304 N—FOvyoFy b 2-FESN AERIL M12x260 0.28 35 9.8 SUS304 v b -FESF
RERIL M22x260 1.02 24 24.5 4.6 N—FOvo+y b -KFEESRG ABRILE M22x260 1.02 36 36.7 4.6 v b -RFEER
RERIL 33x320 3.12 24 74.9 4.6 N—FOvoFy b -KFERf ABRN M33x320 3.12 36 112.3 4.6 v b -RFEE




» &= % 5 X

(| o S M7 S =Y (VA B~ G S I [
4 X 1.0
X 1.0
ES i M+ 1§15 cm m 325 I XA
H - i§15 cm m 1, 444 AP X ]
ES i F - 1§45 ¢ m m 114 e X
F - 1§45 ¢ m m 113 A XTH]
% i H -+ @15 ¢ m m 114 e X
H - @15 ¢ m m 414 AR X ]
g 7 7 F + 1§45 ¢ m m 164 e X
F * 1§45 ¢ m m 93 AR X H]
SN = IRV £ H -+ @15 cm m 171 e X
H -+ 1§15 cm m 84 AL X H]
7 M - E15 ¢ m m 67 AHE T XFH]

X R iE A T m 446 [IE8EE]




Py == S it =
T  f# Rl ok - ~F %k |HAL B & i

& A L = 1.0
% A A m 345

% A B m 6

& A C m 10

FEBAEE T = 1.0
AR 2 = 1.0

AT = 1.0
HOB oM % T e ER N 26

FAERRE N 26




X oA T e B OB OE
H =
% W ® O "
VS &1 H =
ES
(H + 115 c m) 8 X RS
BB SRR V&l NO. 0-6. 30 ~ NO. 0+1. 50 7.8 N7l
st NO. 29+14. 00 ~ NO. 31+4. 00 30. 0 Z
Vst NO. 31+4. 00 ~ NO. 32+19. 50 35.5 Z
NO. 4+19. 40 ~ NO. 6+9. 40 30.0 WSE
NO. 8+11. 60 ~ NO. 10+1. 60 30. 0 Z
L X M HESE S N 133.3 m
Fe A FH X
Va3 NO. 0+7. 50 ~ NO. 1+17. 50 30.0 A f
+ NO. 0+7. 50 ~ NO. 1+17. 50 30. 0 Z
Y3 NO. 24+6. 00 ~ NO. 26+1. 00 35.5 Z
Vi NO. 26+1. 00 ~ NO. 27+11. 00 30. 0 Z
+ NO. 24+6. 00 ~ NO. 27+11. 00 65. 1 Z
UL X BLESE S /NG 190.6 m
HLE SMATR e X
NO. 1+10. 8 ~ NO. 6+9. 40 98. 6 811
NO. 8+11. 60 ~ NO. 13+4. 40 92.8 Z
fEHH X M #ESMARE  NEE 191.4 m
Fe A X
y e NO. 1+13. 80 ~ NO. 2+18. 10 28.8 A f
y e NO. 1+13. 80 ~ NO. 2+2. 50 10. 0 Z
y e NO. 1+5. 40 ~ NO. 2+16. 50 38.2 Z
= NO. 0-0. 50 ~ NO. 6+18. 02 145.4  fEC
y e NO. 0-0. 50 ~ NO. 6+16. 94 140. 1 Z
Vs NO. 7+1. 64 ~ NO. 8+0. 52 19.8 7




X f T Gt K O E
] R
ZR i 4
H EY
HUE SMALHR AT X
*H NO. 7+3. 73 ~ NO. 8+5. 02 23.
Vo NO. —4-4. 26 ~ NO. 2+15. 41 141.
Vi NO. 3+1. 97 ~ NO. 10+2. 82 146.
V&l NO. —4-4. 43 ~ NO. 10+2. 83 291.
Vi NO. 0+7. 06 ~ NO. 2+19. 27 51.
V&l NO. 0+2. 56 ~ NO. 2+19. 27 57.
Vi NO. 20+15. 30 ~ NO. 24+6. 87 75.
Y&l NO. 20+18. 80 ~ NO. 24+8. 74 70.
AL X FH] B8 MR 1, 240.
[ i LR TR AL X
Vi NO. 27+19. 00 13
fE X %R (B - 8 15em) & 324.
RALHI X ZE#R (A« i 15em) & 1, 444.
E S
(K - fi§45 c m) [

15 (% Vi NO. 0-22. 00 3.
Vs NO. 0-6. 40 3.
Vs NO. 29+14. 0 6.
NO. 6+9. 00 6.
NO. 8+8. 00 6.

fHFH X 5 L

24.




N =
ST S O (1 =~ 2
Al IR
¥ R
H £
AP X ]
Vist NO. 27+10. 55 6.0
el NO. 0+7. 50 6.0
el NO. 1+13. 00 2.8
Vi NO. 8+19. 02 2.0
el NO. 20+19. 75 2.0
el NO. 21 2.0
Vi NO. 24+6. 87 2.0

RO X R R NG 22.8

s

N

B IXTH]

NO. 0-19. 80 ~ NO. 0-15. 80

A1=1/2X (9. 7+12. 1) X 4. 0=43. 60m

A2=43. 60X 0. 45/0. 90=21. 80m

L=21. 80=-0. 45=48. 4m 48. 4

NO. 0-14. 00 ~ NO. 0-2. 50

A1=1/2 X (7. 3+11.5) X 4.0=37.60m

A2=37.60X0. 45/0. 90=18. 80m'

L=18. 80=-0. 45=41. 8m 41.8

HtH X RIREWT A ERR /NG 90. 2




X o AR T Gk E PR
] AR
4 W ® O =
A H ER)
FAEH X
NO. 0+1. 50 ~ NO. 0+5. 50 VN
A1=1/2X (9. 1+10. 3) X 4. 0=38. 80ni
A2=38. 80 X 0. 45/0. 90=19. 40nf
L=19. 400. 45=43. 1m 43.1 m
NO. 27+13. 00 ~ NO. 27+17. 00 PN
A1=1/2X (9. 5+11. 6) X 4. 0=42. 20ni
A2=42. 20 X 0. 45/0. 90=21. 10nf
L=21.10-0. 45=46. 9m 46.9 m
AL X IR A E R NG 90.0 m
X SEM (B - tE45em) & FF 114.2 m
AU XM FER (A - H45em) & FF 112.8 m
T _
(H - g 15cm) BT X P8
HIjE AR NO. 1+9. 50 35.0 W E
NO. 11+14. 50 35.0 Z
fE X M HE Pt NG 70.0
HIE LSRR X
NO. 0-4. 00 ~ NO. 0+1. 50 5.5 K #
NO. 6+14. 50 ~ NO. 7+6. 70 12.2 B
NO. 6+14. 50 ~ NO. 7+1. 30 6.8 Z
NO. 7+14. 00 ~ NO. 8+3. 00 9.0 Z
NO. 7+12. 50 ~ NO. 8+3. 00 10.5 Z
L XM EESE S NE 44.0




X H B T 3 K 3 E
H J=
4 7N ¥ B W
o o E| =
HE AR A X[
i NO. 4+12. 50 ~ NO. 24+6. 00 393.5 mA
RO X R EE PR /NG 393.5 m
BE B AR At X T
o NO. 1+17. 50 ~ NO. 2+17. 50 20.0 A H
RPLH XM EE iR /NG 20.0 m
A X REIEAR (3 - 1815em) & & 114.0 m
RO X AR (F « i@15em) & & 413.5 m
r7o |
(El * ¢E45C m) @\:)EH IZFEﬁ
NO. 0-62. 20 ~ NO. 0-19. 80 KR
A1=1/2X42. 4X 3. 0=63. 60ni
A2=63. 60 X 0. 45/1. 45=19. 74t
1=19. 74-+0. 45=43. 9m 43.9 m
NO. 0-15. 80 ~ NO. 0-11. 80 KR
A1=1/2X4.0X 3. 0=6. 001
A2=6. 00X 0. 45/1. 45=1. 86 i
L=1.86-0. 45=4. 1m 4.1 m
NO. 31+4. 00 ~ NO. 33+0. 20 K
A1=1/2X25.0%3.0+1/2X10. 0X 3. 0=52. 5nf
[=52.5/1.45m 36.2 m




N =
X H B T ik E R E
) =3
4 7N B W H
Vsl B =
o e i
‘—tz‘7‘7 T/\FHIZFEﬁ
- IE45 .
(H - 45 c m) NO. 3+3. 70 ~ NO. 5+1. 60 37.9 B H
NO. 7+8. 40 ~ NO. 7+12. 70 4.3 I
NO. 9+13. 00 ~ NO. 11+10. 90 37.9 I
HHXMEEZ 7 (A - i§45cm) & F 164.3 m
AL X
NO. 1+17. 50 ~ NO. 4+12. 50 VNI )
A1=1/2%55. 0X 3. 0=82. 501
A2=82. 50X 0. 45/1. 45=25. 60
1=25. 60+0. 45=56. 9m 56.9 m
NO. 24+6. 00 ~ NO. 26+1. 00 K
A1=1/2X25.0X 3. 0+1/2 X 10. 0 X 3. 0=52. 51t
=52.5/1. 45m 36.2 m
RMEHXME 77 (A - i@45cm) & & 93.1 m
RED - 5o
(B - 15 c m) (I
Y SEIWaReS NO. 0-8. 50 2.5 K
s =y N e i)
(CRARRPTmATER NO. 0-5. 50 2.5 "
)
[ERGS NO. 3+1. 50 6.3 B H
NO. 4+1. 60 6.3 I
NO. 10+11. 00 6.3 I




N =
ST S D 1 e -l =3
] =
4 W O =
A H ER)
[ERCYisEi NO. 29+17. 50 21.2 K
NO. 5+1. 50 9.2 B E
NO. 6+1. 50 9.2 Z
NO. 8+11. 00 9.2 Z
NO. 9+11. 00 9.2 Z
VLNl NO. 29+17. 50 15.8 K #
NO. 3+1. 50 6.7 & E
NO. 4+1. 50 6.7 Z
NO. 5+1. 50 6.7 Z
NO. 6+1. 50 6.7 Z
NO. 8+10. 60 6.7 Z
NO. 9+10. 60 6.7 Z
NO. 10+10. 60 6.7 Z
e NO. 31+17. 00 12.6 A #
R NO. 31+17. 00 13.4 &K #
HEHIXERE - 525 & & 170.6 m
FAEH X
BT NO. 26+3. 00 NO. 27+8. 00 21.2 A
£ NO. 0+13. 00 7.9 K #
NO. 26+3. 00 NO. 27+8. 00 15.8 Z




ST S O (1 =~ 2
Hl I
ZA O =
H ES)
T H NO. 3+15. 0 6.3
Vi NO. 24+3. 00 ~ NO. 25+8. 00 12.6
TS H NO. 3+15. 00 6.7
Vi NO. 24+3. 00 ~ NO. 25+8. 00 13. 4
R XFEIREL - 52 & & 83.9 m
O
(A - f§15c m) et T
EEh Vi NO. 24+5. 54 22.2 R
V& NO. 0+5. 65 22.2  fhEE
Vi NO. 8+0. 52 22.2  MAREC
KX & G 66.6 m




ST R i S (190~ =&

] =
ZA i ® M =
VS &1 H £
E
(B - #@lsem) | NO. 5+4. 50 NO. 6+14. 50 30.0 B E
Vst NO. 8+3. 00 NO. 9+13. 00 30. 0 Z
+ NO. 5+4. 50 NO. 6+14. 50 30. 0 Z
V&l NO. 8+3. 00 NO. 9+13. 00 30. 0 Z
BB NG 120.0 m
filf
(H - 1&15cm)
ERTELIPS NO. 1+9. 50 NO. 3+4. 50 3.0 R
NO. 11+13. 00 NO. 13+8. 00 35.0 Z
N EF 70.0 m
B SRR 7 NO. 6+14. 50 NO. 7+6. 70 12.2 B GE
st NO. 7+3. 40 NO. 8+3. 00 9.0 Z
+ NO. 6+14. 50 NO. 7+1. 30 6.8 Z
+ NO. 7+12. 50 NO. 8+3. 00 10.5 Z
N EF 38.5 m
S 108.5 m




ST R i S (190~ =&

H =
4 7N O =
o o H =
Jz“j'?
(H - @45 c m)
75 NO. 3-4. 50 ~ NO. 5+4. 50 B E
A1=1/2%40. 0X 2. 75=55. 0001t
A2=55. 00X 0. 45/1. 45=17. 07 i
[=17.07-+0. 45=37. 9m 37.9 m
NO. 7+8. 40 ~ NO. 7+10. 90 B 5E
A1=2.5X 2. 5=6. 251t
A2=6. 25X 0. 45/1. 45=1. 94 i
[=1.94-0. 45=4. 3m 4.3 m
NO. 9+13. 00 ~ NO. 11+13. 00 B E
A1=1/2X 44. 0X 2. 75=55. 0011
A2=55. 00X 0. 45/1. 45=17.. 07t
[=17.07-+0. 45=37. 9m 37.9 m
& F 80.1 m
RH) - RS
(H + E15cm)
[IEAR pis NO. 4+4. 00 6.3 mlk 1H
pa NO. 10+13. 50 6.3 I
NO. 7+7. 00 2.5 I




ST R i S (190~ =&

il =)
4 i) % B
VsV &t H E)
NO. 10+13. 50 2.5 1
el NO. 10+13. 50 2. I
NO. 10+13. 50 2. Z
a 22.
o NO. 4+4. 00 6. 1
NO. 5+10. 00 6. Z
NO. 6+9. 00 6. Z
NO. 8+8. 50 6. Z
NO. 9+7. 50 6. Z
NO. 10+13. 50 6. Z
40.
[ERGVSTE /iy Voo NO. 5+10. 00 9. H
= NO. 6+9. 00 9. Z
& NO. 8+8. 50 9. I
& NO. 9+7. 50 9. I
/N F 36.
a3 114.
XHE#RHEET At 445,




% A 1T SERFHE

il =
& - ]
H E)
A 7 NO. 21+1. 80 NO. 27+13. 01 131. 2
Z 7 NO. 27+18. 30 NO. 28+6. 31 17.3
Z H NO. 21+1. 80 NO. 27+14. 44 132.6
Z H NO. 28+0. 15 NO. 28+11. 76 19. 2
I NO. 203 45.0
a 345.3 m
B 7 NO. 27+13. 01 NO. 27+18. 30 5.7
=y 5.7 m
C H NO. 20+12. 30 NO. 21+1. 80 9.5
=y 9.5 m




xh LA HAHEHES

(10m¥4 1)
220155
25 /.180| 15
X avhy—k
SHEHR IO VY T6-5-2508
MER BiE
(10m/ Bk #R =7° n%)
[®) [®) O
Ts} 19}
M \ =
r o ©°
y 2
L/ ( @]
30 S o
(@]
| |
| | HELEZIL (:3)
EEHE (RC-40) nos o
455
4 g 3 = B2V HAL B &
HRHLOEEE R 1y L=600
(BFd&, TiTHR) = 16.000 {#A 16.0
K¥Ex7 my) | L=600
(BFd&, TiAR) = 1.000  {# 1.0
BrE )L X)L
(1:3) 0.230X0. 010X 10. 0 = 0.023 m® 0. 02
a7 YU—F
(18-8-25BB) (0.22X0. 10+0. 155X 0. 21) X 10. 0 =  0.546 m°® 0.5
iU
0.21X10.0 =  2.100 m?* 2.1
Bk
(RC-40, t=10cm) = 0. 455X 10. 0 =  4.550 m°® 4.6
K ¥ L
0. 455X 10. 0 =  4.550 m°® 4.6




txf LB HAHEHESE

(10m¥4 1)
375
190185 aAou—k
SRR O 5 18-8-25B8
EER ZAH
(@] (@]
6. 0% i
1 Lo g
W o
N
3o o o
(@]
| |
\ \ HEIJLZIIL (1:3)
ELREE (RC-40) ios o
455
4 g | 3 = X WAL ¥ &
HRHLOEEE R 1y L=600
(G AH, FrmR) = 16.500 {# 16.5
BrE )L X)L
(1:3) 0.190X0. 010X 10. 0 =  0.019 m® 0. 02
a7 YU—F
(18-8-25BB) (0.19X0. 10+0. 185X 0. 19) X 10. 0 =  0.542 m® 0.5
iU
0.19X10. 0 = 1.900 m?* 1.9
B b
(RC-40, t=10cm) = 0. 455X 10. 0 =  4.550 m°® 4.6
K ¥ L
0. 455X 10. 0 =  4.550 m°® 4.6




fxA LC A EREE (10m2%4 )

220 155
251180| 15
X avsy—k
SEERER IO VYT T5-3-2588
TWmR BiE
@]
(@) O =)
@) & 7 le) S
- f - o
\ﬁ N o
@] [e) o
Al Al o
2307145 HE)LZIIL (1:3)
ERH RC-40) 575 50
425
4 ZiN | i H B2V HAL B &
HRHLOEEE R 1y L=600
(BFd&, TiTHR) = 16.500 {# 16.5
BrE )L X)L
(1:3) 0.230X0. 010X 10. 0 = 0.023 m® 0. 02
a7 YU—F
(18-8-25BB) (0. 22X0. 10+0. 155X 0. 21) X 10. 0 =  0.546 m°® 0.5
Zi B A
(0. 21+0. 10) X 10. 0 =  3.100 m® 3.1
B b
(RC-40, t=10cm) = 0. 425X 10. 0 =  4.250 m°® 4.3
K ¥ L
0. 425%10. 0 = 4.250 m°® 4.3




MoR R

4 i Hi S g | HAL i =3
LEDfR A 25 B LWD2-GO73AW[RI % 5 LA b 4 B |EREE 4G
vaA L ARy A [J2-1L 4
ELfR 7T —/X—AR—/L  |H=10. 2m 4 K |EEhEEs A > ¥
7T —RIV R 4-M24 X 700L 4 H | R UENARL LS A v %
S1iAH: 80A-125A H=6m | A& |EhdEss A~ %
AN R I » [BEESs A > %

Sy g (L2E0) 1¢2W 200V 15A X 1[m]#& 1| | TESRTAS 4TS E L
EEVEVEr 200V-6A 1| » |=v7rst
FERER R (BRIAEH) | ¢ 500X 1600 4

FEREREE (SHARE) | ¢ 500 X 1300 1|

BEHuAL B} DREE U — Rt 5| 4 AIf
VVR>7—7 L VVR5. 57-2C 6| m |[FAKR
VCThr—7 ) veT2H-3¢ 3| m | BRI
EM—CE#4—7/ |EM-CE5. 57-2C 99.5| m |#

EM— I E&E# EM-TE3. 5" 10 m |7—=H
Ar—7 VA I 92-JB1 1 »

WA A Y —F L 45 |FEP30 95 m

N RIR—L 750 X 750 X 1300 6| HH TSRS
=T N — b 126550 88| m
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FEFE T =y 1.0
H OB Mo T e mR 7N 26
TAERE N 26




{1 SRS T

HEERE
LR | BAAT B W O
& ) B IR s BHRIET AT 2 (13) t=d0mm m? 883.9
T AT 7L M T
"Zjé JERE PR MEYGEUCEA s HIBLE T A= (20)  t=40mm mz 883.9
L | k=2 — L o ck=18N/mm’ n’ 22.2
T AT 7L M t=30mm m® 467.5
B e sy—rT o ck=18N/mm’ .~ 19.8
100/ t=13 2 27.6 HETA
i SA VT u — -
i m? 42.0 HE /L a=—3
T |vHL=r 27 U—hT m’ 17.2 I
RN NEZ A AVET 3004 t=13+5 m 266. 2
— hRBIAKT m 883.9
&
. BEIRREAK T m 634. 2
" ARSI Ay 2t $l18 m 533.5 W HEAK B
TEREMTHE K T " o
" (AT LAl i m 11.3 AT Ak
& Bt m 544. 8 & Bt
€ hisal B HALEE T m 562. 2




oy =
2 <
Oo*\!_%* 2&—‘
| N o

12800
100 2500 7000 2500 40
2300 200 200 2300
7 A7 7 b i t=80mm ) 7 A 7|7 kA t=30mm
(=]

. T AT 7))L MEREET

= 22. 174 n®

%¥:y7u~h

3000 J

MOWIE AL 3 = — 8 DA T 42 73,
FE) XX, 7 A7 7L MEEICEDD

RIE (EMRERITA s BRET 232 (13)  t —40m
fHifid
A= 7.000 X ( 134. 100 -
- 0. 200 X 238. 988
= 883. 902 m2 SRR T
ok AEMECESCEA s HLRIE T A2 (20) t =40mm
LGk
A= 7.000 X ( 134. 100 -
- 0. 200 X 238. 988
= 883. 902 m2 SRR T
. =22 Y — k(o ck=18N/mn’)
W i At
al= 1/2 X ( 0. 040 +
+ 1/2 X 0. 040 X
= 0. 1666 m>
V= 0. 1666 X ( 134. 100 -

HEYIR & H

0. 500

HEYIREHL

0. 500

0.070
0. 040

0. 500

HEANEEHND,
2 )
2 )
3. 000
2
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12800

400 2500

7000

2500 40

7T A

200

2300

7 7L b &% t=80mm
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¥ 7 A 7|7 b FEEEE t=30mm
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3000

MOWNIEZ AL T = —E O E % 5,

) —#KMIEZ, 7A 7 70 MEEEICEDY

HRIAT 32 5 11 X
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|

200 200
I
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I
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B R 2 A L

8000 T Lar sz U—h

ZANFEHND,

HEEANERSIIL
(=)
S
(=) Tho
ol 8 Jazesy
[}
g /
(=]
) | |
6=163° 54’ 16”
9902
500 SE#)8924 (8773~9075) 500
(fH F 25 1) ¥iE 134100 (fe A 24 1E
- F
al= 1/2 X ( 0. 500 + 0. 600 ) X 0. 200
= 0.1100 p?
a2= 7 X 5.000% X 106. 2603 °  / 360 °
- 1/2 X 8. 000 X 3. 000
= 11. 1824 p?
a3= P X 5.000% X 163.9044 °  / 360 °
- 1/2 X 9. 902 X 0. 700 - 11.1824
- 0. 300 X 8.924 a2

18. 4331 p’



1.

T AT 7 )b T (t=30mm)

TiffEEE ) R &
Al= 2.300 X ( 134. 100 - 0. 500 X 2 )
- 0. 1100 X 2 @i
= 305. 910 p?
A2= 11. 182 p?
s BRI NE H & A LD
L= 134. 100 - 0. 500 X 2
= 133.100 m
A3= 0. 300 X 133.100
= 39. 930 n?
« T A S WEEREIR Z A VER)
A4= 0. 500 X ( 2. 300 - 0.300 )X 14
- 0. 500 X 0. 200 X 2
_ 13. 800 mz RO 52 B8
o a=—E(ERER S A NN L= 27 U — NP
Ab= 11. 1824 + 18. 4331
= 29. 616 n’
At
2 A=( 305. 910 + 11. 182 - 39. 930 - 13. 800 - 29.616
) X 2
= 467. 492 i’
F#E = 7 ) — b T (o ck=18N/mn”)
SR EHAE
AL t=1/2 X ( 0. 084 + 0. 130 = 0.107 m
S = t=1/2 X ( 0. 130 + 0.170 = 0.150 m
Al
Vi=( 0. 107 - 0.030 )X 305. 910
= 23. 555 p° A2
V2=( 0. 150 - 0.030 )X 11. 182
= 1.342 i*
Zv=( 23. 555 + 1. 342 ) X 2
= 49. 794 o’
AANVRLERNNEWH L= 27 ) — L
NES BT Jr 4 it
B/ T A H A VIET 100/ t=13mm m 13.8 27.6
] } B 2 AET 100#5  t=13mm m’ 21.0 42.0
Rl /N 3 = —E - -
TWwWHL=ar 27— T n? 8.6 17.2
Wl - N a=—if RTEREDSNE 2 A VIR T 30045 t=13+5 m 133.1 266. 2




4-11. BhKT

1. ¥— FRBHAKT

A

883. 902 p? (BEET X v)

2. BERPIKT

A=( 305.910 + 11.182 ) X 2
= 634. 184 CGRETXY)

3. HEBEWIHEAKE L(AFV T A v 2t ¢ 18(AT L AH))

- MW PEAKE

L1=( 133. 000 + 133.750 ) X 2
= 533.500 m

- BRI HEAKE

L2= 6.900 + 2. 200 X 2
= 11.300 m

- At

SL= 544. 800 m

4. Vi B AL T

L=( 135. 373 + 134. 100 + 134.100 )X 2

- 0. 500 X 6 X 2 - 238. 988
= 562. 158 m BRI
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(1) T7A77/L MadET
1 EHEG

t = 40 mm KE ERIEAs (13)

7.000 X 27.019 = 189.133 m’

t = 40 mm g EAHRIEAs (20)

7.000 X 27.019 = 189.133 m’
2 HEE t = 30 mm
2.300 X 27.019 X 2 = 124.287 n’

2 BHLarz7V—FrT

1 HOEE * [ffE ; CADJIE(E
g (m2) [FFAE M) n {KFE (m3)
al 8. 7632 0.061] 1 0. 535
a2 9. 0634 0.061] 1 0. 553
a3 9. 3192 0.061] 2 1.137
a4 9. 5886 0.061] 2 1.170
ab 9. 9522 0.061] 2 1.214
ab 10. 3363 0.061] 2 1.261
a7 9. 0050 0.061] 1 0. 549
a8 8. 7049 0.061] 1 0. 531
&8 74. 7328 6. 950
2 HEE
g (m2) [FFEE M) n {KF (m3)
a9 2. 4887 0.046] 2 0. 229
al0 3. 0997 0.047] 2 0.291
all 3. 7506 0.049] 2 0. 368
al? 4. 4397 0.050] 1 0. 222
al3 5. 1826 0.051] 1 0. 264
al4 5.9221 0.052] 2 0.616
alb 5.1197 0.051] 1 0. 261
alb 4. 3768 0.050] 1 0.219
£F 34. 3799 2. 470
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1. fffEdEEE ( CR + SS400 )

Al TmrTVaAr bNIR—20H (FiEH) L =7.080 m
Tz VaAr PN —20H (BEH) L =4.720 m
A2 TmTVaAr hNIR-35H (FiEH) L =7.080 m
Tnu7YaA NI —35H GREH) L =4.720 m

.=k (VU arfk)

Al 50 mm X 25 mm L = 4202 mm
V =

A2 50 mm X 25 mm L = 4202 mm
V =

3.%Frar 7 ) — T

Al V =11.800 X 0.500 X ( 0.110 + 0.110 ) / 2
+ 11.800 X 0.350 X ( 0.080 + 0.212 ) / 2
= 1.252 m"3

A2 V =11.800 X 0.500 X ( 0.110 + 0.110 ) / 2

+

11.800 X 0.350 X ( 0.080 + 0.212 ) / 2

1.252 m 3
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(1)

(2)

(3)

(4)

(5)

YNE]

HOE

VNE]

i

bl

A:

A =

(¥—F%R)

7.000

( BiER )

2. 300

X 27.019

X 27.019 X 2

MEWrHEKE (7Y 7 Ay @Rl E)

519
H

[ 1 2 1R

Uil H
ERTERE

HRIEER

7
StEl

ER:it7)

il

puBzty
it
it

(918 )

L

(T Nx—R vy v amAZERLLE)

Ls

Ls

67.912

116. 980

(v > — LSSHEE S LLE)

it &

Ls

67.912

m

m

m

= 189. 133 m*

= 124.287

60.935 m



